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The one who did not conclude  — N5 NS 7T 9771 27 K97 IND
with a 71272, since it is like the blessing for fruits

OVERVIEW

The X713 cites a dispute whether we conclude the 1°017°X 272 with the 7372 of °"X2
TYITRY 79I " DRI 1Y wIPn (the view of 31 XX 27) or not (the view of "2 Pan
XX and X"72 7727). The X3 explains that the one who did not conclude with a 71572
compares it to MXn7 N17°97 N372 and the one who concluded with a 77572 compares
it to W17°p. Our M1OIN clarifies in what way it is similar to M7°577 N372 and WY7Tp,
respectively
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For the m7°97 n>72 is not lengthy and this 7°017°X n372 is also not lengthy, and

the 1°017°X N>72 is not similar to wYsp, which is a longer blessing than Po1°x n372 -
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And the one who concluded the X"2 with a blessing, for it is similar to 27>
which is concluded with a blessing (n2w:s wpn °"R2), since the v17°p is long and
this X"2 is also considered a long blessing.

mooIn cites *"w1d and rejects it:
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And that which "21 explained that the reason X"2 is similar to ¥17°p is because
the X"2 is said with an expression of (w7p WwX) mwTe (like u17p),* therefore we
conclude "2 with a ("1 X wpn) 1572, just as we conclude the w7°p with a
(nawn wpn) 1973; this explanation is not acceptable.

mooIn asks:
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There is a slight difficulty; the one who does not conclude X"2 with a 7572, why

is X"2 different from the 77272 of 112 972 WX of 7707 n292, which we conclude
with a (7707 1M1 °"R2) 7972 -

" Even though x"2 is longer than m7°571 n372, nevertheless it is not as long as ¥17°p and cannot be compared to W17°p.
? See ‘Summary’.
? Mmoo does not explain his disapproval of *"w's. The difficulty in *"w79 seemingly is that by W17°p we are amn
because there is a P05 as >"w states (°7°1 17""72), however by X"2 there is no podi, so why is there a inm.
* Others explain 7217 W92 to mean that he is w7p» the woman by saying *> nwTpn NX 7.
> See “Thinking it over’.
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Even though X''2 is a longer 7572 than 77107 no>13, so we should certainly conclude X"a
with a 71072!

mooin replies:
:Na 0N NN KD NHPY)
And perhaps indeed the 7" who is not an7 by X"2 was not ant by 7mn7 no>1a.

SUMMARY

X"2 1s in between NM17°97 N372 and WIT°P in size. One compares it to N1 N372
(since it 1s shorter than ©17°?) and is not an, and the other compares it to W17
(since it is longer than mM7°977 nN372) and is ani. The one who is not anT by X'"2,
may not have been an by n"7372 as well.

THINKING IT OVER
When miooin cites the 7972 of 121 9n2 wR,’ did he mean that 71972 exclusively (and
not the 7512 of 191 11 101 7wK),” or he meant either or both M>12?

6 According to Mmoo the ruling whether to be amn depends on the length of the 7372 (where 01X N272 is in
between M7°977 N372 and W17°P). However if we see that n"7372 which is smaller than X"2 requires a 72>, so X"2
should surely require a 1722 n°nn. However according to "wA the 7"» that o°nn X7 is because there is no 7wpa we
cannot ask from n"7572 for perhaps there is another reason why n"1372 is 71122 nanIn. See vy MR 7"210.
7 See footnote # 4.
¥ There may be a special reason why the 7372 of 11% 01 WX requires a 72’0, which does not apply to the 71972 of WK
112 72,
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